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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. English version is Authentic
(1) What are the objectives’s of construction management?
(2) Explain economical feasibility
Write good skills required for good construction manager

Q.1 (a)
(b)

(a)
(b)

(b)
(@)

Q.2

Q.3

(b)

Q3 (a)

Write short note on economic order quantity (EOQ)
Explain the job layout and write necessity of it.

OR

Explain in brief Contract Labour Act-1970

Subject Name: Construction Works Management
Time: 02.30 pm — 05.00 pm
Total Marks: 70

(1) Write advantages and disadvantages of critical path method
(2) Define the following terms
(a) Optimistic time (b) Most likely time (c) Pessimistic time

Calculate EST, EFT, LST, LFT, TF. Also draw the network diagram
showing the critical path, and find total time to finish whole project.

The activity in project is as follow.

(1) Write down Advantages of PERT

(2) Explain limitation of Bar chart

Activity Time(days) Sequential code
A 9 1-2
B 10 1-3
C 15 2-4
H 8 2-6
F 16 3-4
G 12 3-5

Dummy 0 4-5
D 13 4-7
E 6 5-7
I 10 6-7

OR

For one project the value of t,, t, and t, for different activity is as
follow.
Activity to(days) tm(days) t,(days)

1-2 2 5 14

1-3 3 12 21

2-4 5 14 17

3-4 2 5 8

4-5 1 4 7

3-5 6 15 30
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(1) prepare network diagram(2) calculate expected duration &
variance for every activity (3) find Tg& Ty for every event (4)find
standard deviation & variance for whole project.

Explain in brief natural disaster forecasting system in India.
Write short note on
(1) Role of NGO in post-disaster planning
(2) Administrative structure of disaster management in India
OR
Write safety precautions for erection of steel structure
Write short note on
(1) Demolition of R.C.C floor
(2) Demolition of Wall

(1) Define Organization and enlist types of organization.
(2) Explain acceptance sampling
One construction machinery is purchased for Rs 1,50,000. After 7
years its scrap value is Rs 30,000. Take interest rate at 5%. Calculate
depreciation from following methods (1) straight line method (2)
constant percentage method (3) sinking fund method
OR

Write factor affecting selection of construction equipment
Write short note on

(1) Application of MIS

(2) Essential requirement for preparation of job layout
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1-2 2 5 14
1-3 3 12 21
2-4 5 14 17
3-4 2 5 8
4-5 1 4 7
3-5 6 15 3
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